il

LT

[ = n 1
| R Ny |

Schnitt A-A
Schnitt B-B

AL

L]

Gréﬁe AQ

Produkt
KLO 1210

—ullvolumen: 9000

~ q g
(=] 3

1610449A yd1]§yI8Iy0L4S SUN UOA puM pun
u3}0q4aA §si bunwwiysnz ayayIanIpsno

249sun auyo 3yyuug uo bunpayyy sapo bunjsamaap
3)344036 Jawwn M 3par ‘wnjuabiy

105

TC LI

F— -
)

® o o

L9

190

@o‘o@

@)

i

105

0001

|

”””U
””””
e ——— I TN

®

[« » [ m— ¢ — ¢ —

| °

I—ll—ll—ll—ll—lli.
|

— 1

}
!
.

=

sabysieb sasun yassanydssno ysi bunuyaez asaig

.
]

—

0001

1

[« > [« » ]
C D [ « [ « »

[« v e ] [« » ] [«
> [ »

A

1—‘—

—_— e D
unUn"u“
nunu“u"

/70

O
QN
—

S )

> » [« > ] [« > ]
[« [« » ] [« » ] [« » ]
[ e v ] [
£ [«

o 2 b
b o o ho = - = M ¥
2 e & R
+ 2 % 2 a A £ 2 P 3 S
1
v 1
1
= b
ho o e 2
& 2
& 3

Iy!
=./

[ . » [ .
[« » »
[« > ]
»

doﬁl\‘ ,‘-

\

I

1200




